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1. If the rank of the matrix A = L2 2 3 is equal to 2, then:
’ 1 2 kK*2-3k+4 3 ’ '
1 2 k>-5k+8 3

—_— 1. k=2
2.k=1lork=2o0or k=3
3. k=1lork=2
4. k=2ork=3

2. The function y = ¢; + €**(cy cos x + ¢z sinz) is the general solution of:
—> 1. y® —4y" + 5y =0
2. y® — 4y — 5y =0
3.y — 4y — 5y =0
4. y® — 4y — 5y =0
5.

y® 2y — 3y’ + 10y = 0

3. Consider the following subsets of R3:

LWi={l|y|| v+y+2=0}

I Wy ={|y| | 22 +y*+ 22 =0}

I Wy ={|y| | z+y+2>0}

V. Wy={ly| | e+y+z=1}
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The subsets that are subspaces are:
—> 1. [ and II.
I and IIL.
IT and IV.
[T and IV.

II and III

A s

4. Let a, b, and ¢ be some constants. Consider the linear system:

X + y + az = 1
ox -y + bz = -1
y + cz = 0

If the determinant of the coefficient matrix is 3, then:

[\]

Z = 4.

=1
AR 5 -

1.
2.
3. z=-3.
4.
5.



Math 208-211, Exam II

x - 3y - 10z 4+ bw
x + 4y + 1lz -
x + 3y + 8z -
\ -2 -lo 5| ©
(A b - \ Ly W =21 o
— & ' = =
-\0 5 O
- R+R2 \ -5 =
o a2 2\ +\ O
"E\'\'ﬁg é \g »-«é.s
—~\0 510
“:%Ez_ \ ’3 2 5 § O
O \
MW o L \$ -6
- )
-éﬁz—{fg ‘ - 3 -1 LJ‘ ~
) (N -
O K\U E o O
© o s '
% N gru PR

A \/‘:)Vﬂ(ﬁp VCchV

following linear system:

HEraRHE

e Sb\whw‘ 5?‘»\& 8§ 1

-5W= 5
.._3'2 Ao X= 3\3'”0% 5 ke

5. Find a basis and the dimension of the solution space of the

G

-2\

amensiom = 2



Math 208-211, Exam II

6. [This question has two parts]
Consider the IVP
v =y Yy —y=0
y(0) =1, y'(0)=2, y"(0)=3
The DE above has the solutions: y; = €*, yo = cosz, and y3 = sin z.

(a) Prove that the functions ya, y2, and y3 are linearly independent.

(b) Solve the IVP.
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7. Solve the differential equation: y®) — ¢/ = 1.
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8. Consider the differential equation:

1 — @ + 2y — 9 = 21 - g)?e"
Y

0<z<1)

If the solution of the associated homogeneous differential equation
Yo = C1T + cz€®, then find the general solution of the given dif-

ferential equation.
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